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6) Divide using long division. Write your
answer in fraction form.
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7) Use the Remainder Theorem to determine
if (x - 6) is a factor of p(x) = x3 + 3x* - 10x - 24
= (6)° + 3(6)* - 10(6) - 24
=216 + 108 - 60 -24
= 240

no, (x - 6) is not a factor
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8) Use the Remainder Theorem to determine
if(x + 5)is a factor of p(x) = X% +3x% - 13x - 15,
= (-5)% + 3(-5)% -13(-5) - 15
= -125 + 75 + 65 - 15
=0

yes, (x + B) is a factor
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9) Given the polynomial, find the zeros,
state any multiplicities, and sketch the
graph.

vy =x*-x%-6x°

=x*(x*-x-6)
= x3(x -3)(x + 2)
x=omult. 2, x =3, x = -2
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10) Find the relative maximum, relative
minimum, and zeros of the function.

f(x) = x3 - 6x% - 16x

relative max.| = X(x* - 6x - 16)
9.0 =x(x - 8)(x + 2)

relative min.
-105.0 zeros: -2, 0, 8
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11. You want to make a cardboard box. You take an 11-foot by 8-foot piece of

cardboard and cut an x-foot by x-foot square out of each corner. Then you fold
it up to make the box.

a) Write an expression to represent the volume of the box.
V= X (8-2x)I-3x)

b) Find the maximum volume of the box.

60 £4.2

c) Find the height, x for that volume.

X:/.Sinv
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1) Write the function in factored form.

Y =2X° + 10X° + 12X
= 2x(x* + 5x + 6)
=l2x(x + 2)(x + 3)
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2) Given the polynomial, find the zeros,
state any multiplicities, and sketch the
graph. ;
Yy = (x-2/(x + 3)

x = 2, multiplicity 2
x=-3
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3) Given the polynomial, find the zeros,
state any multiplicities, and sketch the
graph. '

Yy =(x+1)(x-3P

x = -1
x = 3 multiplicity 3
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4) Write a polynomial function in standard
form with zeros: -3, 0, 0, 4

f(x) = (x + 3)x%(x - 4)
= x3(x% - x - 12)
=(x* - x3 - 12x
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5) Divide using long division. Write your
answer in fraction form.
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